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Period

3. Solve the system by substitution
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13. You set up a business and make an initial investment of $10,000. The unit cost of the product
is $2.85 and the selling price is $4.95. How many units must you sell to break even? (Assume all
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15. The perimeter of a rectangle is 480 meters and its length is 1.5 times its width. Find the dimensions
of the rectangle.
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32. A total of $46,000 is invested in two corporate bonds that pay 6.75% and 7.25% simple interest. The

investor want an annual interest income of $3,245 from the investments. What is the most that can be
invested in the 6.75% bond?
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61. Graph the system of inequalities: 65. Graph the system of inequalities:
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37, Solve the system using Gaussian elimination:
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54. An inheritance of $20,000 was divided among three investments
The mnterest rates for the three investments were 7%, 9%, and 11
mvestment if the second and third were $3.000 and $1,000 less t
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yielding $1,780'in interest per year.

Y. Find the amount placed in each
han the first, respectively.
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3. Solve the system by substitution

x'—y'=9
x-y=1

13. You set up a business and make an initial investment of $10,000. The unit cost of the product
is $2.85 and the selling price is $4.95. How many units must you sell to break even? (Assume all
units made are sold).

15. The perimeter of a rectangle is 480 meters and its length is 1.5 times its width. Find the dimensions
of the rectangle.

32. A total of $46,000 is invested in two corporate bonds that pay 6.75% and 7.25% simple interest. The
investor want an annual interest income of $3,245 from the investments. What is the most that can be
invested in the 6.75% bond?

61. Graph the system of inequalities: 65. Graph the system of inequalities:
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37. Solve the system using Gaussian elimination:

x+3y—z=13
2x  —5z=23
dx-y—~2z=14

54. An inheritance of $20,000 was divided among three investments yielding $1,780 in interest per year.
The interest rates for the three investments were 7%, 9%, and 11%. Find the amount placed in each
investment if the second and third were $3,000 and $1,000 less than the first, respectively.




